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The table shows how the popuation in Uganda is
ising at a very fast rate

Poplation 33 milon
Popultion growth | 3.2 per cent per annum
Birth rate 481,000

Death rate 121,000

Infant mortalty rate | 65/1.000

Average feriity |65 per woman

Age distribution | 50 per cent under 15
Poplation by 2050 | 100 milion

S0 while Uganda has a apidy growing popuiaton,
there s s long e poverty and poor health,
partcularly forchiren. nfant mortaty is hgh
because of 2 lackof aned micives and medical
dinis, partcar inroal aeas. The bt rae s high
because of  ack of vaiabiltyof fomly panning
advice, and because chiden ar soen 3 providng
hope for the future. Fgure 5.3.2.3 shows the numbers
in the diffrentago bands in Ugand'spopuiation.
Some developed countries such as apan have 3
aling populaton. The bt rae s lower than the
death rate as Japanes families choose o have fewer
chiden. The tble below shows birth and death
ates in Japan, 2008-16

Birthrate | Death rate
(viths/1,000) | (deaths/1.000)
2008 787 926
2012 860 980
2016 790 1020

£

%0
%0
5
0
0
M
20

™ om0 2 50
Popston (ausonds)

U popaion dsrbion by e s . 2072
rce Ot oo St

Femaies

15302520151005 0 0 05101520253035
Fopston ilors

Ui podston G by 3¢ w0 .

oy





image2.png
Developed countres hav stable or decliing populatons as
a result of low birth and death rates and as a consequence of

higher standards of Iing and better medical failtes.

Developing countries have high death rates, ncluding high
infant mortaly rates. Heaith faciites are poor, particulary in
rural aeas.

Developing countries have high birth rates, often as  result
of alack of avaiabilty of family planning education and
esources, and people choosing to have more chidren

1 Wiy & the shepe Of the
populaton pyramid dferent
in develoging and developed
economies?

2 Why s population sing i
many developing countries
and faling insome
developed countries?

3 Why might the growth of
popultion of a country
5poed up orsow down?





